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Under normal physiological conditions, the binding of immune-checkpoint ligands to
their receptors can:

– maintain immune self-tolerance

– protect tissues during the immune response to a pathogen

T-lymphocyte activation 
receptors

T-lymphocyte inhibition 
receptors

T-lymphocyte
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The T-lymphocytes recognise
the tumour cells and bind to 

the MHC by their TCR to 
induce an immune response 1

The tumour cells express 
the PD-L1 ligand, which binds 

to PD-1, inhibiting the T-
lymphocyte response 1

MHC – Major histocompatibility complex; TCR – T cell receptor; PD-L1 – Programmed death-ligand 1
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T-lymphocyte

Tumour cell
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PD-L1
PD-1

B7.1

PD-L2

PD-L1B7.1

PD-1

Macrophage
�!�  

PD-1
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PD-L1
PD-1

B7.1

PD-L2

PD-L1B7.1

Macrophage
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